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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 NS: E=6HE HeFfaGHO) 17 11 NS: FFHIEZE RHEF(BAG VP:| 15.75 : 4.25 Total VP: 126.60 Rank:
EW: $8{—5k Mh&eREAC) 9 EW: Ri%=E5 SHEH T (F( IMP:| 28 9 2
- . S
#1 & J75 2NE3 -150 Mean: 3NE-2 100 70 1 ||#2 » Q832 4S5S4 620 Mean: 5HXW-4 800 6.0 1
v 876 3NE-2100 -200 3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -250 NS:2 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: -6 EW:-7 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DE-1100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 6.0 1
v A864 6DW-2 200 70 6DW-2 200 40 1 v J83 4HE-1100 -40  4HW-1 100 40 1
¢6 Dif: -100 NS:1  5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: -3 EW:-4 3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN4 130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN5 450 Mean: 4SS6 480 10 3
v 82 3NS-1-100 220 3NS5 660 10.0 1 v J2 4SS4 420 450  4SN6 480 1.0 1
¢ 53 Dif: 230 NS:-3 3NS4 630 9.0 1 + AQJT6 Dif: 30 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 6 EW:8 4HE-4 200 1.0 1 » KJ2 IMP: 1 EW:1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 ¢2
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-1100 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2DS4 130 Mean: 1NS4 180 20 1
v KT6532 4CW-1100 200 3NW-5 500 7.0 1 v JT954 2DS290 110  3HN3 140 10 1
¢ J6 Dif: 0 NS:-3 3NE-5 500 7.0 1 + AQ9 Dif: 40 NsS:1  2SS3 140 10 1
aT8 IMP: 0 EW:3 3NE-4 400 50 2 » 962 IMP: 1 EW:1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||aJT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS5 460 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HXE-1 200 Mean: 4SE-2 200 80 1
v 93 3DN6 170 230 3NS5 460 60 2 v KQT2 4HE4 -620 -140  4HXE-1 200 80 2
+ QT9862 Dif: 290 NS:6 3NS4 430 50 2 * T2 Dif: 820 NS:8 4HW-1 100 60 3
a A IMP: 7 EW:2 3NN4 430 50 1 » Q8 IMP: 13 EW:10 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 00 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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10 1142 E< 3 2RBERE B2 == RI0 1
L v L
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
2 NS: ={aE% FEEEE 0) -22 1 3 NS: EAtH 4 BRERTE(BAC) 11 VP:| 2.32 17.68| Total VP: 84.11 Rank:
EW: £25 5 H#HfER(EAC) -11 EW: RiE5 $BHERE(FO) 22 IMP:| 12 41 1
- S
#1 & J75 3NW3 -400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN-1 -100 Mean: 5HXW-4 800 6.0 1
v 876 1HE3 -140 -200  3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -260 NS:-5 2CS-2 100 3.0 1 + KQ9 Dif: -720 NS:-12 4SN4 620 1.0 2
& QJ43 IMP: -6 EW:-2 3SW3 140 20 1 & Q943 IMP: -12 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 3DE4 -130 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE-1100 Mean: 4HE-2 200 6.0 1
v A864 5DE-1100 70 6DW-2 200 40 1 v J83 4HE-1100 -40  4HW-1 100 40 1
¢6 Dif: -230 NS:-5 5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: -6 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3CN4 130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS6 480 Mean: 4SS6 480 10 3
v 82 3CN4 130 220 3NS5 660 10.0 1 v J2 4SN5 450 450  4SN6 480 1.0 1
¢ 53 Dif: 0 NS:-3 3NS4 630 9.0 1 + AQJT6 Dif: 30 NS:1 5SN5 450 0.0 1
» AQJ96542 IMP: 0 EW:3 4HE-4 200 1.0 1 » KJ2 IMP: 1 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-4 400 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS3 140 Mean: 1NS4 180 20 1
v KT6532 3NW-2200 200 3NW-5 500 7.0 1 v JT954 3DS-2-100 110  3HN3 140 10 1
* J6 Dif: 200 NS:5 3NE-5 50 7.0 1 + AQ9 Dif: 240 NS:1  2SS3 140 10 1
aT8 IMP: 5 EW:0 3NE-4 400 50 2 » 962 IMP: 6 EW:5 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 6DN-2 -100 Mean: 3NS6 490 60 2 |(|#10 » T9876 3HWS3 -140 Mean: 4SE-2 200 80 1
v 93 3NS4430 230 3NS5 460 60 2 v KQT2 4HW-1100 -140  4HXE-1 200 80 2
+ QT9862 Dif: -530 NS:-8 3NS4 430 50 2 * T2 Dif: -240 NS:0 4HW-1 100 60 3
aA IMP: -11 EW:-5 3NN4 430 50 1 » Q8 IMP: -6 EW:-6 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
3 NS: Fiigg RERGEO) -8 6 NS: #1288l BE=F(BAC) 0 VP:| 8.15 11.85| Total VP: 117.77 Rank:
EW: g5 B EAC) 0 EW: 82X #5F#(5H0) 8 IMP:| 28 33 4
- — S
#1 & J75 1HE3 -140 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN4 620 Mean: 5HXW-4 800 6.0 1
v 876 3NE3 -400 -200 3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: 260 NS:2 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 6 EW:5 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 4DE4 -130 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 -620 Mean: 4HE-2 200 6.0 1
v A864 3NW-4 400 70 6DW-2 200 40 1 v J83 4HW-1 100 -40  4HW-1 100 40 1
¢6 Dif: -530 NS:-5 5DE-1 100 1.0 3 T Dif: -720 NS:-11 4HE-1 100 40 9
» 865 IMP: -11 EW:-8 3NW-1 100 1.0 1 » KQ852 IMP: -12 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN4 130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN5 450 Mean: 4SS6 480 10 3
v 82 4CN4 130 220 3NS5 660 10.0 1 v J2 4SS4 420 450  4SN6 480 1.0 1
¢ 53 Dif: 0 NS:-3 3NS4 630 9.0 1 + AQJT6 Dif: 30 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 0 EW:3 4HE-4 200 1.0 1 » KJ2 IMP: 1 EW:1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-5500 Mean: 3NE-6 600 9.0 1 ||#38 a T2 1NS4 180 Mean: 1NS4 180 20 1
v KT6532 3NE-3300 200 3NW-5 500 7.0 1 v JT954 2CE-150 110  3HN3 140 10 1
* J6 Dif: 200 NS:7 3NE-5 50 7.0 1 + AQ9 Dif: 130 NS:2 2SS3 140 10 1
aT8 IMP: 5 EW:-3 3NE-4 400 50 2 » 962 IMP: 4 EW:2 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 5DN-1 -50 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HW-1 100 Mean: 4SE-2 200 80 1
v 93 3NS4430 230 3NS5 460 60 2 v KQT2 4HE4 -620 -140  4HXE-1 200 80 2
+ QT9862 Dif: -480 NS:-7 3NS4 430 50 2 * T2 Dif: 720 NS:6  4HW-1 100 60 3
aA IMP: -10 EW:-5 3NN4 430 50 1 » Q8 IMP: 12 EW:10 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
4 NS: a5 Z5#EEH0) 20 14 NS: 15fR5E BRIZEN(BAC) 15 VP:| 1.42 18.58 | Total VP: 68.32 Rank:
EW: #hER #REEAC) -15 EW: 3R{Z8R ERHE£(FI0) 20 IMP:| 7 : 42 14
- S
#1 & J75 3NW3 -400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN4 620 Mean: 5HXW-4 800 6.0 1
v 876 3NE-150 -200 3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -450 NS:-5 2CS-2 100 30 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: -10 EW:-6 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 5.0 3 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 3NW-4 400 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 -620 Mean: 4HE-2 200 6.0 1
v A864 3HW-1100 70 6DW-2 200 40 1 v J83 4HE-1100 -40  4HW-1 100 40 1
¢6 Dif: 300 NS:8 5DE-1 100 1.0 3 T Dif: -720 NS:-11 4HE-1 100 40 9
» 865 IMP: 7 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: -12 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3HE-3 150 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN6 480 Mean: 4SS6 480 10 3
v 82 4HE-4200 220 3NS5 660 100 1 v J2 4SS6 480 450  4SN6 480 1.0 1
¢ 53 Dif: -50 NS:-2 3NS4 630 9.0 1 + AQJT6 Dif: 0 NS:1 5SN5 450 0.0 1
» AQJ96542 IMP: -2 EW:1 4HE-4 200 -1.0 1 » KJ2 IMP: 0 EW:-1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3CW3 -110 Mean: 3NE-6 600 9.0 1 ||#38 a T2 3HN3 140 Mean: 1NS4 180 20 1
v KT6532 5CW-1100 200 3NW-5 50 7.0 1 v JT954 1SS3140 110  3HN3 140 10 1
* J6 Dif: -210 NS:-7 3NE-5 50 7.0 1 + AQ9 Dif: 0 NS:1 2SS3 140 10 1
aT8 IMP: -5 EW:3 3NE-4 400 50 2 » 962 IMP: 0 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~2~~ ¢A94 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 5 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS5 460 Mean: 3NS6 490 60 2 |(|#10 » T9876 3CXN-3 -800 Mean: 4SE-2 200 80 1
v 93 3NS6490 230 3NS5 460 60 2 v KQT2 3HW4 170 -140  4HXE-1 200 80 2
« QT9862 Dif: -30 NS:6 3NS4 430 50 2 * T2 Dif: -630 NS:-12 4HW-1 100 60 3
aA IMP: -1 EW:-6 3NN4 430 50 1 » Q8 IMP: -12 EW:1 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 -620 100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
5 NS: B RS (GE0) 13 8 NS: BEE MERB(EAC) 20 VP:| 6.86 13.14| Total VP: 90.05 Rank:
EW: FEMEFT BESFE B(BAC) -20 EW: ##53 {@RE(FHO0) -1 IMP:| 20 29 9
- . —
#1 & J75 3NE3 -400 Mean: 3NE-2 100 70 1 ||#2 » Q832 5HXW-4 800 Mean: 5HXW-4 800 6.0 1
v 876 3SW3 -140 -200 3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -260 NS:-5 2CS-2 100 3.0 1 + KQ9 Dif: 180 NS:6 4SN4 620 1.0 2
& QJ43 IMP: -6 EW:-2 3SW3 140 20 1 & Q943 IMP: 5 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE5 -600 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 6.0 1
v A864 3NW-1100 70 6DW-2 200 40 1 v J83 4HE-2200 -40  4HW-1 100 40 1
¢6 Dif: -700 NS:-12 5DE-1 100 1.0 3 . Dif: -100 NS:4 4HE-1 100 40 9
» 865 IMP: -12 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: -3 EW:-6 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS5 660 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN4 420 Mean: 4SS6 480 10 3
v 82 3NS6 690 220 3NS5 660 10.0 1 v J2 4SS5450 450  4SN6 480 1.0 1
¢ 53 Dif: -30 NS:10 3NS4 630 9.0 1 + AQJT6 Dif: -30 NS:-1 5SN5 450 0.0 1
» AQJ96542 IMP: -1 EW:-10 4HE-4 200 -1.0 1 » KJ2 IMP: -1 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-2 200 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS2 110 Mean: 1NS4 180 20 1
v KT6532 3NE-4400 200 3NW-5 500 7.0 1 v JT954 2SS3140 110  3HN3 140 10 1
* J6 Dif: -200 NS:0 3NE-5 50 7.0 1 + AQ9 Dif: -30 NS:0 2SS3 140 10 1
aT8 IMP: -5 EW:-5 3NE-4 400 50 2 » 962 IMP: -1 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NN4 430 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HE-1100 Mean: 4SE-2 200 80 1
v 93 5DN-1-50 230 3NS5 460 60 2 v KQT2 3CS-1-100 -140  4HXE-1 200 80 2
+ QT9862 Dif: 480 NS:5 3NS4 430 50 2 * T2 Dif: 200 NS:6 4HW-1 100 60 3
aA IMP: 10 EW:7 3NN4 430 50 1 » Q8 IMP: 5 EW:-1 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
6 NS: 841 BEZIZ(EHC) 0 3 NS: &5 REH(BIO) -8 VP:| 11.85 : 8.15 Total VP: 99.87 Rank:
EW: £ % BEFErBEE0) 8 EW: |25 BEIE(BAC) 0 IMP:| 33 28 6
- - S
#1 & J75 1HE3 140 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN4 -620 Mean: 5HXW-4 800 6.0 1
v 876 3NE3 400 -200 3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: -260 NS:-5 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: -6 EW:-2 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ aKJ86
W ~4443 W ~~~~~
#3 » Q8743 4DE4 130 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 620 Mean: 4HE-2 200 6.0 1
v A864 3NW-4 -400 70 6DW-2 200 40 1 v J83 4HW-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 530 NS:8 5DE-1 100 1.0 3 T Dif: 720 NS:4 4HE-1 100 40 9
» 865 IMP: 11 EW:5 3NW-1 100 1.0 1 » KQ852 IMP: 12 EW:11 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN4 -130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN5 -450 Mean: 4SS6 480 10 3
v 82 4CN4 -130 220 3NS5 660 10.0 1 v J2 4SS4 -420 450  4SN6 480 1.0 1
¢ 53 Dif: 0 NS:-3 3NS4 630 9.0 1 + AQJT6 Dif: -30 NS:-1 5SN5 450 0.0 1
» AQJ96542 IMP: 0 EW:3 4HE-4 200 1.0 1 » KJ2 IMP: -1 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-5-500 Mean: 3NE-6 600 9.0 1 ||#38 a T2 1NS4 -180 Mean: 1NS4 180 20 1
v KT6532 3NE-3-300 200 3NW-5 500 7.0 1 v JT954 2CE-1-50 110  3HN3 140 10 1
* J6 Dif: -200 NS:3 3NE-5 50 7.0 1 + AQ9 Dif: 130 NS:-2 2SS3 140 10 1
aT8 IMP: -5 EW:-7 3NE-4 400 50 2 » 962 IMP: -4 EW:-2 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 5DN-1 50 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HW-1 -100 Mean: 4SE-2 200 80 1
v 93 3NS4 -430 230 3NS5 460 60 2 v KQT2 4HE4 620 -140  4HXE-1 200 80 2
+ QT9862 Dif: 480 NS:5 3NS4 430 50 2 * T2 Dif: -720 NS:-10 4HW-1 100 60 3
aA IMP: 10 EW:7 3NN4 430 50 1 » Q8 IMP: -12 EW:-6 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
7 NS: FiEgl EXEGHO) -11 10 NS: % EE sRE#(BAC) -2 VP:| 7.17 12.83| Total VP: 99.17 Rank:
EW: EiEHE S=iEEAC) 2 EW: ¥ 518 Z=ER(50) 11 IMP:| 26 34 7
- S
#1 & J75 2SW4 -170 Mean: 3NE-2 100 70 1 ||#2 » Q832 4S5S4 620 Mean: 5HXW-4 800 6.0 1
v 876 2CS-2-100 -200 3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -70 NS:1  2CS-2 100 30 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: -2 EW:-3 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE-1100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE4 -620 Mean: 4HE-2 200 6.0 1
v A864 3NW-4 400 70 6DW-2 200 40 1 v J83 4HE-1100 -40  4HW-1 100 40 1
¢6 Dif: -300 NS:1  5DE-1 100 1.0 3 T Dif: -720 NS:-11 4HE-1 100 40 9
» 865 IMP: -7 EW:-8 3NW-1 100 1.0 1 » KQ852 IMP: -12 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 5CN-1-100 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS5 450 Mean: 4SS6 480 10 3
v 82 3HE-3150 220 3NS5 660 100 1 v J2 5SN5450 450  4SN6 480 1.0 1
¢ 53 Dif: -250 NS:-8 3NS4 630 9.0 1 + AQJT6 Dif: 0 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: -6 EW:2 4HE-4 200 -1.0 1 » KJ2 IMP: 0 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-1100 Mean: 3NE-6 600 9.0 1 ||#38 a T2 1SS3 140 Mean: 1NS4 180 20 1
v KT6532 4HXN-2 -500 200  3NW-5 50 7.0 1 v JT954 1NXE-1 100 110  3HN3 140 10 1
* J6 Dif: 600 NS:-3 3NE-5 50 7.0 1 + AQ9 Dif: 40 NsS:1  2SS3 140 10 1
aT8 IMP: 12 EW:12 3NE-4 400 50 2 » 962 IMP: 1 EW:0 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~2~~ ¢A94 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 5 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 2CXE-1 200 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HXE-1 200 Mean: 4SE-2 200 80 1
v 93 3NS6490 230 3NS5 460 60 2 v KQT2 4HE4 -620 -140  4HXE-1 200 80 2
« QT9862 Dif: -290 NS:-1 3NS4 430 50 2 * T2 Dif: 820 NS:8 4HW-1 100 60 3
aA IMP: -7 EW:-6 3NN4 430 50 1 » Q8 IMP: 13 EW:10 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 -620 100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
8 NS: #B25F MELEIC) 20 5 NS: RIZF 2Iil35(BR0) 13| VP:| 13.14 : 6.86 Total VP: 99.07 Rank:
EW: #heF e fas2&h(B50) -13 EW: #IIER] BRFR(FAC) -2 IMP:| 29 20 8
- __ —
#1 & J75 3NE3 400 Mean: 3NE-2 100 70 1 ||#2 » Q832 5HXW-4 -800 Mean: 5HXW-4 800 6.0 1
v 876 3SW3 140 -200 3NE-1 50 60 1 v 98 4S5S4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 260 NS:2 2CS-2 100 3.0 1 + KQ9 Dif: -180 NS:1  4SN4 620 1.0 2
& QJ43 IMP: 6 EW:5 3SW3 140 20 1 & Q943 IMP: -5 EW:-6 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE5 600 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 6.0 1
v A864 3NW-1-100 70 6DW-2 200 40 1 v J83 4HE-2 -200 -40  4HW-1 100 40 1
¢6 Dif: 700 NS:1  5DE-1 100 1.0 3 . Dif: 100 NS:6 4HE-1 100 40 9
» 865 IMP: 12 EW:12 3NW-1 100 1.0 1 » KQ852 IMP: 3 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS5 -660 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN4 -420 Mean: 4SS6 480 10 3
v 82 3NS6 -690 220 3NS5 660 10.0 1 v J2 4SS5 -450 450  4SN6 480 1.0 1
¢ 53 Dif: 30 NS:10 3NS4 630 9.0 1 + AQJT6 Dif: 30 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 1 EW:-10 4HE-4 200 1.0 1 » KJ2 IMP: 1 EW:1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 ¢2
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-2 -200 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS2 110 Mean: 1NS4 180 20 1
v KT6532 3NE-4 -400 200 3NW-5 500 7.0 1 v JT954 2SS3-140 110  3HN3 140 10 1
* J6 Dif: 200 NS:5 3NE-5 500 7.0 1 + AQ9 Dif: 30 NS:1  2SS3 140 10 1
aT8 IMP: 5 EW:0 3NE-4 400 50 2 » 962 IMP: 1 EW:0 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||aJT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NN4 -430 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HE-1 -100 Mean: 4SE-2 200 80 1
v 93 5DN-150 230 3NS5 460 60 2 v KQT2 3CS-1100 -140  4HXE-1 200 80 2
+ QT9862 Dif: -480 NS:-7 3NS4 430 50 2 * T2 Dif: -200 NS:1  4HW-1 100 60 3
aA IMP: -10 EW:-5 3NN4 430 50 1 » Q8 IMP: -5 EW:-6 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 00 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
9 NS: F17FH sRF&(BHO) 4 1 2 NS: RE¥ BER(BIC) 25 VP:| 4.95 15.05| Total VP: 85.56 Rank:
EW: BRI BRFERAEAC) -25 EW: 35 % 21235 (5H0) -4 IMP:| 6 T 22 10
- . S
#1 & J75 3NE3 -400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4S5S4 620 Mean: 5HXW-4 800 6.0 1
v 876 2NE3 -150 -200  3NE-1 50 60 1 v 98 4SS4 620 580  4SS4 620 1.0 10
+ Q85 Dif: -250 NS:-5 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: -6 EW:-2 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 5.0 3 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 2SN-2 -100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 6.0 1
v A864 1NW-1 100 70 6DW-2 200 40 1 v J83 4HE-1100 -40  4HW-1 100 40 1
¢6 Dif: -200 NS:-5 5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: -5 EW:-1 3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN5 150 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS5 450 Mean: 4SS6 480 10 3
v 82 3NS4 630 220 3NS5 660 10.0 1 v J2 4SS6 480 450  4SN6 480 1.0 1
¢ 53 Dif: -480 NS:-2 3NS4 630 9.0 1 + AQJT6 Dif: -30 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: -10 EW:-9 4HE-4 200 1.0 1 » KJ2 IMP: -1 EW:-1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 ¢2
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-6 600 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS3 140 Mean: 1NS4 180 20 1
v KT6532 3NW-5500 200 3NW-5 500 7.0 1 v JT954 2HS3140 110  3HN3 140 10 1
* J6 Dif: 100 NS:9 3NE-5 500 7.0 1 + AQ9 Dif: 0 NS:1 2SS3 140 10 1
aT8 IMP: 3 EW:-7 3NE-4 400 50 2 » 962 IMP: 0 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||aJT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 5DN-1 -50 Mean: 3NS6 490 60 2 |(|#10 » T9876 4SE-2 200 Mean: 4SE-2 200 80 1
v 93 5DN-1-50 230 3NS5 460 60 2 v KQT2 4HW-1100 -140  4HXE-1 200 80 2
+ QT9862 Dif: 0 NS:-7 3NS4 430 50 2 * T2 Dif: 100 NS:8 4HW-1 100 60 3
a A IMP: 0 EW:7 3NN4 430 50 1 » Q8 IMP: 3 EW:-6 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 00 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 O NS: ZABHE 5REAEAC) -2 7 NS: ZRiEs 2=k F(BAO) -1 VP:| 12.83 : 7.17 Total VP: 78.60 Rank:
EW: &5 2ZEEI0) 11 EW: Bi5#E StIE(EAC) 2 IMP:| 34 26 12
- S
#1 & J75 2SW4 170 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SS4 -620 Mean: 5HXW-4 800 6.0 1
v 876 2CS-2100 -200  3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 70 NS:3 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 2 EW:-1 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE-1-100 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 620 Mean: 4HE-2 200 6.0 1
v A864 3NW-4 -400 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 300 NS:8 5DE-1 100 1.0 3 T Dif: 720 NS:4 4HE-1 100 40 9
» 865 IMP: 7 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: 12 EW:11 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 5CN-1100 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS5 -450 Mean: 4SS6 480 10 3
v 82 3HE-3 -150 220 3NS5 660 10.0 1 v J2 5SN5 -450 450  4SN6 480 1.0 1
¢ 53 Dif: 250 NS:-2 3NS4 630 9.0 1 + AQJT6 Dif: 0 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 6 EW:8 4HE-4 200 1.0 1 » KJ2 IMP: 0 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-1-100 Mean: 3NE-6 600 9.0 1 ||#38 a T2 1SS3 -140 Mean: 1NS4 180 20 1
v KT6532 4HXN-2 500 200 3NW-5 50 7.0 1 v JT954 1NXE-1 -100 110  3HN3 140 10 1
* J6 Dif: -600 NS:-12 3NE-5 50 7.0 1 + AQ9 Dif: -40 NS:0 2SS3 140 10 1
aT8 IMP: -12 EW:3 3NE-4 400 50 2 » 962 IMP: -1 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 2CXE-1 -200 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HXE-1 -200 Mean: 4SE-2 200 80 1
v 93 3NS6 -490 230 3NS5 460 60 2 v KQT2 4HE4 620 -140  4HXE-1 200 80 2
+ QT9862 Dif: 290 NS:6 3NS4 430 50 2 * T2 Dif: -820 NS:-10 4HW-1 100 60 3
aA IMP: 7 EW:1 3NN4 430 50 1 » Q8 IMP: -13 EW:-8 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




St - - 2
10 142 EE 2ABEEE HL e == RI0 10
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 1 NS: SEHfEE EHIETEHC) 1 NS: EXiE ExG {6 (BO) 17 VP:| 4.25 15.75| Total VP: 75.96 Rank:
EW: (FiE=E SHETEI 0) EW: $E{_# MEFR(BAC) 9 IMP:| 9 : 28 13
- __ S
#1 & J75 2NE3 150 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SS4 -620 Mean: 5HXW-4 800 6.0 1
v 876 3NE-2 -100 -200 3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 250 NS:7 2CS-2 100 30 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 6 EW:-2 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DE-1-100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 6.0 1
v A864 6DW-2 -200 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 100 NS:4 5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: 3 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN4 -130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SN5 -450 Mean: 4SS6 480 10 3
v 82 3NS-1100 220 3NS5 660 100 1 v J2 4SS4 -420 450  4SN6 480 1.0 1
¢ 53 Dif: -230 NS:-8 3NS4 630 9.0 1 + AQJT6 Dif: -30 NS:-1 5SN5 450 0.0 1
» AQJ96542 IMP: -6 EW:3 4HE-4 200 -1.0 1 » KJ2 IMP: -1 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-1-100 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2DS4 130 Mean: 1NS4 180 20 1
v KT6532 4CW-1-100 200 3NW-5 50 7.0 1 v JT954 2DS2-90 110  3HN3 140 10 1
¢ J6 Dif: 0 NS:-3 3NE-5 50 7.0 1 + AQ9 Dif: -40 NS:-1 2SS3 140 10 1
aT8 IMP: 0 EW:3 3NE-4 400 50 2 » 962 IMP: -1 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~2~~ ¢A94 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS5 -460 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HXE-1 -200 Mean: 4SE-2 200 80 1
v 93 3DN6 -170 230 3NS5 460 60 2 v KQT2 4HE4 620 -140  4HXE-1 200 80 2
« QT9862 Dif: -290 NS:-2 3NS4 430 50 2 * T2 Dif: -820 NS:-10 4HW-1 100 60 3
a A IMP: -7 EW:-6 3NN4 430 50 1 » Q8 IMP: -13 EW:-8 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 2 NS: REF BHEEIC) 25 9 NS: 2175 5RZKI£(BAO) 4 VP:| 15.05 : 4.95 Total VP: 104.67 Rank:
EW: &5 S22 EH0) 4 EW: BB E=RHI(RAC) -2 IMP:| 22 : 6 5
- __ S
#1 & J75 3NE3 400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SS4 -620 Mean: 5HXW-4 800 6.0 1
v 876 2NE3 150 -200 3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 250 NS:2 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 6 EW:5 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K96 & T5 3NW3 -400 50 2 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 5.0 3 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 2SN-2 100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 6.0 1
v A864 1NW-1-100 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 200 NS:1  5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: 5 EW:5 3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4CN5 -150 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS5 -450 Mean: 4SS6 480 10 3
v 82 3NS4 -630 220 3NS5 660 10.0 1 v J2 4SS6 -480 450  4SN6 480 1.0 1
¢ 53 Dif: 480 NS:9 3NS4 630 9.0 1 + AQJT6 Dif: 30 NS:1 5SN5 450 0.0 1
» AQJ96542 IMP: 10 EW:2 4HE-4 200 -1.0 1 » KJ2 IMP: 1 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-6 -600 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS3 140 Mean: 1NS4 180 20 1
v KT6532 3NW-5-500 200 3NW-5 500 7.0 1 v JT954 2HS3 140 110  3HN3 140 10 1
* J6 Dif: 100 NS:7 3NE-5 50 7.0 1 + AQ9 Dif: 0 NS:1 2SS3 140 10 1
aT8 IMP: -3 EW:-9 3NE-4 400 50 2 » 962 IMP: 0 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 5DN-1 50 Mean: 3NS6 490 60 2 |(|#10 » T9876 4SE-2 -200 Mean: 4SE-2 200 80 1
v 93 5DN-150 230 3NS5 460 60 2 v KQT2 4HW-1 100 -140  4HXE-1 200 80 2
+ QT9862 Dif: 0 NS:-7 3NS4 430 50 2 * T2 Dif: 100 NS:6 4HW-1 100 60 3
a A IMP: 0 EW:7 3NN4 430 50 1 » Q8 IMP: -3 EW:-8 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




. ', ~ ﬁ “ _ 0
10 1142 E< 3 2RBERE B2 == RI0 1
L v L
Vo axq
#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 3 NS: BEith4&r BREETREHC) 11 2 NS: ZfE% HEZEBEIO0) VP:| 17.68 : 2.32 Total VP: 149.90 Rank:
EW: BE7 SEEE5BE0) 22 EW: 57 M8 (EFAC) 1 IMP:| 41 12 1
- S
#1 & J75 3NW3 400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN-1100 Mean: 5HXW-4 800 6.0 1
v 876 1HE3 140 -200 3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 260 NS:2 2CS-2 100 3.0 1 + KQ9 Dif: 720 NS:1  4SN4 620 1.0 2
& QJ43 IMP: 6 EW:5 3SW3 140 20 1 & Q943 IMP: 12 EW:12 4SN-1 100 120 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 & T5 3NW3 -400 50 2 ||a AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 3DE4 130 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE-1 -100 Mean: 4HE-2 200 6.0 1
v A864 5DE-1-100 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 230 NS:1  5DE-1 100 1.0 3 T Dif: 0 NS:4 4HE-1 100 40 9
» 865 IMP: 6 EW:5 3NW-1 100 1.0 1 » KQ852 IMP: 0 EW:-4 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3CN4 -130 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS6 -480 Mean: 4SS6 480 10 3
v 82 3CN4 -130 220 3NS5 660 10.0 1 v J2 4SN5 -450 450  4SN6 480 1.0 1
¢ 53 Dif: 0 NS:-3 3NS4 630 9.0 1 + AQJT6 Dif: -30 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 0 EW:3 4HE-4 200 1.0 1 » KJ2 IMP: -1 EW:-1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 ¢2
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-4 -400 Mean: 3NE-6 600 9.0 1 ||#38 a T2 2HS3 -140 Mean: 1NS4 180 20 1
v KT6532 3NW-2 -200 200 3NW-5 500 7.0 1 v JT954 3DS-2100 110  3HN3 140 10 1
* J6 Dif: -200 NS:0 3NE-5 500 7.0 1 + AQ9 Dif: -240 NS:-5 2SS3 140 10 1
aT8 IMP: -5 EW:-5 3NE-4 400 50 2 » 962 IMP: -6 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 6DN-2 100 Mean: 3NS6 490 60 2 |(|#10 » T9876 3HW3 140 Mean: 4SE-2 200 80 1
v 93 3NS4 -430 230 3NS5 460 60 2 v KQT2 4HW-1 100 -140  4HXE-1 200 80 2
+ QT9862 Dif: 530 NS:5 3NS4 430 50 2 * T2 Dif: 240 NS:6 4HW-1 100 60 3
aA IMP: 11 EW:8 3NN4 430 50 1 » Q8 IMP: 6 EW:0 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 4 NS: #BIRE BREEENERC) 15 4 NS: il Z=5{#(F0) -20 VP:| 18.58 : 1.42 Total VP: 120.35 Rank:
EW: 5R{EHEH BRM:f2(BHO) 20 EW: &I 818:E(FAC) 1 IMP:| 42 : 7 3
- S
#1 & J75 3NW3 400 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SN4 -620 Mean: 5HXW-4 800 6.0 1
v 876 3NE-1-50 -200 3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 450 NS:6 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 10 EW:5 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K96 &T5 3NW3 -400 50 2 ||a AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 3NW-4 -400 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 620 Mean: 4HE-2 200 6.0 1
v A864 3HW-1-100 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: -300 NS:1  5DE-1 100 1.0 3 T Dif: 720 NS:4 4HE-1 100 40 9
» 865 IMP: -7 EW:-8 3NW-1 100 1.0 1 » KQ852 IMP: 12 EW:11 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3HE-3 -150 Mean: 3NS6 690 100 1 [|# 6 » A87 4SNG6 -480 Mean: 4SS6 480 10 3
v 82 4HE-4 -200 220 3NS5 660 10.0 1 v J2 4SS6 -480 450  4SN6 480 1.0 1
¢ 53 Dif: 50 NS:-1  3NS4 630 9.0 1 + AQJT6 Dif: 0 NS:1 5SN5 450 0.0 1
» AQJ96542 IMP: 2 EW:2 4HE-4 200 1.0 1 » KJ2 IMP: 0 EW:-1 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3CW3 110 Mean: 3NE-6 600 9.0 1 ||#38 a T2 3HN3 -140 Mean: 1NS4 180 20 1
v KT6532 5CW-1-100 200 3NW-5 500 7.0 1 v JT954 1SS3 140 110  3HN3 140 10 1
* J6 Dif: 210 NS:-3 3NE-5 50 7.0 1 + AQ9 Dif: 0 NS:1 2SS3 140 10 1
aT8 IMP: 5 EW:7 3NE-4 400 50 2 » 962 IMP: 0 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS5 -460 Mean: 3NS6 490 60 2 |(|#10 » T9876 3CXN-3 800 Mean: 4SE-2 200 80 1
v 93 3NS6 -490 230 3NS5 460 60 2 v KQT2 3HW4 170 -140  4HXE-1 200 80 2
+ QT9862 Dif: 30 NS:6 3NS4 430 50 2 * T2 Dif: 630 NS:-1 4HW-1 100 60 3
aA IMP: 1 EW:-6 3NN4 430 50 1 » Q8 IMP: 12 EW:12 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




